

$$\int (x^2 + 5x - 2) dx$$

$$\frac{x^3}{3} + \frac{5}{2}x^2 - 2x + \underline{\underline{1}}$$

$$\frac{x^3}{3} + \frac{5}{2}x^2 - 2x - \underline{\underline{101}}$$

$$\frac{x^3}{3} + \frac{5}{2}x^2 - 2x + \underline{\underline{\frac{44}{5}}}$$

$$\frac{x^3}{3} + \frac{5}{2}x^2 - 2x + \underline{\underline{C}}$$

$$\int \sin x \, dx = -\cos x + C$$

$$y = \sin x$$

$$\frac{dy}{dx} = \cos x$$

$$y = \cos x$$

$$\frac{dy}{dx} = -\sin x$$

$$\left. \begin{aligned} f(x) &= x^2 - \underline{\underline{2}} \\ f(x) &= x^2 + \underline{\underline{5}} \\ f(x) &= x^2 - \underline{\underline{9}} \end{aligned} \right\}$$

family  
of  
curve

same  
derivative

$$\int \frac{1}{x} dx = \int x^{-1} dx$$

$$= \ln x + C$$

antiderivative

constant  $y = \ln x$

$$\frac{dy}{dx} = \frac{1}{x}$$

$$\int e^x dx = e^x + C$$

$$\int \left( 3x - \frac{5}{x^2} + \frac{2}{x^3} \right) dx = \int \left( 3x - 5x^{-2} + 2x^{-3} \right) dx$$

$$= \frac{3}{2}x^2 - \frac{5x^{-1}}{-1} + \frac{2x^{-2}}{-2} + C$$
$$= \frac{3}{2}x^2 + \frac{5}{x} - \frac{1}{x^2} + C$$

$$\int \left( \frac{\sqrt{x} + 1}{\sqrt{x}} \right) dx = \int \left( \frac{\sqrt{x}}{\sqrt{x}} + \frac{1}{\sqrt{x}} \right) dx$$

$$= \int \left( 1 + x^{-\frac{1}{2}} \right) dx$$

$$= x + \frac{x^{-\frac{1}{2}}}{-\frac{1}{2}} + C$$

$$= x + 2\sqrt{x} + C$$

$$\int \tan x \cos x \, dx = \int \frac{\sin x}{\cancel{\cos x}} \cdot \cancel{\cos x} \, dx$$

$$= -\cos x + C$$

P. 312  
7-11



9.

$$\int (e^{t/2} - 5t^2) dt =$$

$$2e^{t/2} + \frac{5}{t} + C$$

$$\cancel{2}e^{t/2} \cdot \frac{1}{\cancel{2}} + -5t^{-2}$$

$$y = e^x$$

$$\frac{dy}{dx} = e^x$$

$$y = e^u$$

$$\frac{dy}{dx} = e^u \cdot \frac{du}{dx}$$

$$\int \frac{4}{3} t^{1/3} dt = \frac{4}{\cancel{3}} \cdot \frac{t^{4/3}}{\cancel{4/3}} + C$$

$$= t^{4/3} + C$$

P 312  
12-17

AP Problem  
2002